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1. TPaper! has two parts : Part | & Part Il
$H U b q) HE | HE 1SR A2

aj Pant 1 & Reasoning (30 Marks)
HA T dd ) (50 sid)

h) Part 1T 1 Elementary Mathematics (50 marks)
AT 2 el A0 (50 Hd)

I

Each section carrics 30 objectives type of guestions,
T AT AR HeN @ 50 ue7 faa T )

3. There will be four possible answers to every question. Candidates are required (o 1l correct
answer in the OMR sheet with Black ball pcn only.
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4. Toreach correct answer, | mark will be granted and (1.5 mark wijl be deducted for every wrong
answer,

THE WA TN P 1Y 1 o iR § SN A SR 5 W05 3ih e ferm
AT |

5. Ifacandidate gives more than one answer, it will be treated as a wrong answer aml half mark will
be deducted, There mll he no penalty for questions left unanswered.

afz apemelt vw usT @ S U 9 el @) i & Al 98 e Seaw A ST AR
SHE 06 HE BIE foa T | B Y v & o @ o T @rer |l |

6. Candidates should not mark in the question paper. They van use blank pages provided in the
question paper lor rough work.
aprelt ueT uEl # fhE) ave @} 91 o | ¥ mrda‘f%mmw%wzm

T TS &7 ST B |

7. lo beeligible to qualify, candidate must obtain minimum 40% marks euch in Part 1 & 1
separately and @ minimum of 0% aggregate in total.

apareff mt Iedel w1 @ fore e 1 sl w2 § udE § @9 B B 40 T 3 a
Ff¥ant & 3w o o @ g s0 mRwe Bem e

PART - | :REASONING (d& wwaf4)

DIRECTIONS: In each of the following questions, a number series is given with one term
missing. Choose the correct anernatuve that will continue the same pattern.
Pretaiiga o @ A0 & W @ us 3 aus B | A9 R Y s # 6F B e e
I @ AT
Q1. 32063144275

(a) 554 (b) 548 (c) 468 (d) 354
Q2. 8121827

(@ 36 (b) 44 (9 37 (d) 40
Q3. 829,113,449,

{a) 673 (b) 984 (c) 1484 (d) 1793

11 16

o R
o =g
Q4 373 Do m

(a) 2 ) = ) = @ =



DIRECTIONS: In each of the following questions, a letter number series is given with one

term missing as shown by (?).. Choose the missing term out of the given alternatives.
s o A 31 4 & oS § U A mye &1 A2 e ne oS F 1 R 961 Al
e e & {7 ) B9 —

Q5. N5V, K7T,?,E14P, B1SN !

(ay HER (b) H10Q {c} H1OR {d) IMOR
Q6. J2Z K4X, 17V, ? .H18R, M22P

(ay 11T (b) L11S (c) L127 (d) L11T
Q7. C4X FSUI16R,? :

(a) K25P (b) L25P (c) L250 (d) L27P
DIRECTIONS: In each of the following questions, various terms of an alphabet series are

given with one missing term as shown by (?). choose the missing term out of the given
alternatives.

ey Srerfafies aommenet 2 4o @ s | U ol w8 oRE ve e 2| 9w AT e
@ g @l Hush Hie e o= @) (2) /1 -
Q8. AB, DEF, HLK, ?,6 STUVWX
(a) LMNO(b) LMNOP (c) MNOPQ (dfy QRSTU
Q9. AYBZC. DWEXF, GUHVI, JSKTL, ? '
(@ MQORN (b) MQNRO () NQMOR (d) QMONR

DIRECTIONS: In the following questions you have to identify the correct response from
the given premises stated according to following symbols.
oy« <im fBt 7y o § 9 OeR g9 W Ry e fagdl & s @ wE #

Q 10, If + means +, - means +. x means - and + means X
afgser ol 84, - 3 B+, x @ w3 F—and + H @ Ex,

(36 x4)-8 x4 _
TA+8X2416 +1

(@ 0 (o) 8 {c) 12 {d) 186

the
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Q 11. If — stands for ‘additions’ , «— stands for * subtraction’, T stands for ' division', | stands
for * multiplication’. 2 stands for ‘ equal to’, then which of the following alternatives is correct ?
nfa—mr @t # ‘additions’ , «—=71 4157 & ‘ subtraction’, T3 et i ‘ division’, Lar el &
multiplication’, 2@ s:f 2 ‘equal to’, @ ®i= w1 R@es w81 87

fa) 74316 11724 (b) 3161253674

ey 5=7«31274(d) 2156232726
Q 12. Find missing numbers,
T W oW |

2 [ g [ 1] 7
& | 5 |33 |
2 140 [(-4)]
6 | 4 | 10] 2

(a) 3and2 (b) (d) (-3) and (-2)°

Q 13 Find missing numbers.
w1 il g @ |

(-3) and 2(c) 3 and (-2)

(a 19 (b) 18 (c) 24 (d 12

Q 14 Find the missing numbers.

67 | 91 [ 45
78 | 90 | 36

| RE |27

{a) 95 (by 98 (c) 105 (d)y 111

() 13, Find missing number.

7 9 8

2 4 3

5 7 6

16| 32 | 7

(a) 17 () 23 (c) 47 d 73
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DIRECTIONS: In each of the following questions, a letter number series is given with cne
term missing as shown by (?). Choose the missing term out of the given alternatives.
frdy Fr=fafies ot 3 77 F usT § T ot e ) A1 R T S F @ 1 e e
Y wE @) (7)) W —

Q16 VAFI : 13:: VADD =
a) 12 (by 22 cy 21 (d) 24
Q 17. RUST: 9687: -TSUR:?
{a) 7896 (b) 7869 (c) 7689 (d) 6789
DIRECTIONS:In each of the following questions. four words are given, out of which three are
alike in some manner and the fourth one is different. Choose the odd one.

Ay Rl g ws # A v Ry T # s | A Rl 4 B0 gen 3 wE E el
e oE foww & @ O e e ol

Q18 (a) Wood/a®d) (o) Cork/z®
(c)  Stone/merR (d)  Paper/ 7S

019, (@) Commander/dHingY (b} Commodore/F=Er™ (c)
Admiral/vefive (d)  Brigadier/f ez

DIRECTIONS: In each of the following questions, certain pairs of words are given. out of

which the words in all pairs except one, bear a certain common relationship. Choose the pair in
which the words are differently related.

fréy frefafeg ueit 4 oo fiftes vl & A8 g 10 2 T § T W @1 ol e N ad
dldl ¥ en fafael ¥ide 2T B | S 9E TF ST S Y ol g @ e

Q20 (a) Steel; Utensils (b)  Bronze - Statue
e A et - wfesr
(c) Duralium : Aircraft (d) Irop - Rails
gaiferm | famm ofgr - gefyat
Q21 (a) Tongue Taste (b) Eye Blind
A L e 3G Hl
(¢) Ear Deaf @ Leglame

h
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DIRECTIONS:In each of the following questions, four numbers are given, out of which three
are alike in some manner while the fourth one is different. Choose the one different from the
rest.

Priy Fr=refes gegs o 3§ o v ) gd &) el O DA R 3 R gew e e
UH @7 & O 98 A9 W 5 e ¢

Q22 (a) 25631 (b) 33442 (€) 34424 (d) 52163
Q23 (a) 2468 (b) 2648 (c) 4826 (d) 6482
Q24 (a) 312 (b)  4:20 (c) 642 (d) 763

Q 25 |am facing in Scuthern Direction | turnright and walk 20 m. Thenl turnright and walk
10 m. Then again | tum left and walk 10 m. Then again | turn right and walk 20 m. Finally

once again | turn right and walk 60 m. In which direction | am facing from (starting) Initial point
5

e s gt fRw # 21 F e geev ok 1o ML aeE € R a geew 0 A weEn §
fir a7 qewT 20 W =TE €| T wW geww 60 A F@ ) 4 awfiw Qg @ faw Gy #§ @

{a) North/sm= (b) North West/ am=ultiy (¢) East/qia
(d) North East/ @17 738

Q 26. Eight people A, B, C, D, E, F, G and H are placed as shown in the diagram. All are
facing in the outward direction. If all of them move anticlockwise to three places then.

wra @ A, B, C.D,E.F, G & H & arer ormw 91 @ik 4 aed 3¢ 3| af2 wh 551 &
[Aad fas A 9 e 60 92 €=

{a) B isfacing West (b}  Eis facing East
B ufé &) Hie E 9@ & &R

{c} H is facing North West (d)  Aisfacing South
H s uftan @) #Hi AT # e

Q 27. On what dates of March. 2013 did Wednesdays fall?
AR & & w8 2013 B B G ARG BN

(2 6 13.20, 27
o) 5.12.19,26
(c) 4.11,18,25
@ 7.14,21,28
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Q 28. A watch which gains uniformly is 4 minute slow at 9 A.M, on Sunday, and is 4 minutes
15 sec. fast at 9 P.M. on next Friday. When was it correct?

v ) ol WE w9 A T B & AR w79 4 e OR 8 @it &) e o e g@an
TE 9 70 4 T 15 TS W B Wi & g udl J afaw §HR 79 F9 917

(a) 2 AM. Thursday (b) 6 P.M. Wednesday
(c) 1 AM. Wednesday (d) 6P.M

Q29 The minute hand of a clock overtakes the hour hand at aninterval of 64 minutes of
correct time. How much a day does the clock gain or lose?
eh Al 9 e T g 9 9 §8 31 64 e @ sidvel GY UR FRA & AT R fRm 4 e
fereit % 3fe o7 T |

(a) 43> minute loss (b) 327 minute gain
(c) 33i minute gain (d) 32i minute loss

Q 30. In a row of girls, Kamia is 9" from the left and Veena is 18" from the right. If they
interchange their positions. Kamla becomes 25" from the left. How many girls are there in the
row?

Aafvd o dfte & Faen a2 | off # wur @ 9id & edl 8| 9fE F e Rufy amr A
geel o & ol bl sie g W 2sdf 21 S ) o 3% e A fad oefeut &

@ 34 - (b) 40 (c) 36 (d) 41

Q31 Five students are standing one behind the other in aplayground facing the instructor.
Malini is behind Anjana, but in front of Gayathri. Meena is in front of Sheena, but behind
Gayathn What is the position of Meena?

4 e 1 F e uw we § ow qw Rus @) SR E ) e, sorm 3 9o @ Ry
s @ R R A, S e e & A @ Refd aage?’

(a) Seceond from Last (b)  Extreme First
(c) Extreme last (d) Second from first

Q 32. Sita is elder than Swapna. Lavanya is elder than Swapna but younger than Sita.
Suvarna is younger than both Hari and Swapna. Swapna is elder than Hari . Who is the
youngest? !

st g 1 &8 B ) w WO § A9 2 g e 9 e &) v 59 @ A e §
wyE g9 W 4l # | ued wiel wie 87

(a) Sia (b) Lavaya {c)  Suvarna (d) Har

Q 33. Cis A's father's nephew. D is A's Cousin but not brother of C. How is D related to C.
C.A & far z7 wefran D, A & aao s @ W[ C # 7€ 78 § D 721 C &1 &y
T |
(a} Father (b) Sister
(c) Mother (d) Aunt
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(a)Only conclusion | and Il follow/@aa Fwsy 1 afw LI

AT F B
(p)Only conclusion Il and Il follow/ @ae fAvad 1T $R TTTageo
P B

(¢)Only conclusion 1 and 11 follow/das fF3md | 3T [IaneRT F90 &
(d)Only conclusion I follows / Baer R 1340 H¥ar &

DIRECTIONS:In each of the following questions, various terms of an alphabet series are given
with one or more terms missing as shown by --. choose the missing terms out of the given
alternatives.

frdy:frrioien avfamenall &t 2ol & wedl O ve O B § 9 v a1 A By o uel @
I G S N £ o )| S 2 4 g
Q39 acb_ce_f_

{a) dde - (b) cde (c) dee (d) ddg
Q40 rtx_sx z txy yz
(@ yyrxs (b) yysxr () yyrsx (d) yyxrs

Q 41, Unscramble the letters to frame a meaningful word. Then find out the correct numerical

position of the letters: i
fay g send @) sedgl W ¥ aafre BN F A e A wE densd Wil s )
BCUSMELRNA
12345678910
(@) 21346897510 (by 61432587910
(b) 31571042698 (d) 39428105176

Q 42, Which diagram depicts relationship between Nitrogen | Ice , Air
&Il 9 B W ANG FECeE, 9 997 59 | €y gukdl 27

g . ’ .@O



Q43

Q 44.

Q45

Q 46
code

Q 47.

A

Which diagram depicts relationship between Bus , Car Vehicle
T BT W ARG a9, &Iy, oUl AIET § Hay wEe 27

O

If CUSTOM is written as UCTSMO then how PARENT will be written in the same code?
4f2CUSTOM 1 UCTSMO, forsa & 7% PARENT @1 uxil e w1 # =1 v

{a) ERAPTN (b) TNERAP
ic) RAPTNE {d) APERTN

If CAT is coded as 3120, what code number can be given to NAVIN?

AfacaT 1 3120 forma & d NAVIN BT S FE AT H w feRd?

{a) 14122914 (b) 49274654

{c) 73957614 (d) 43245654 2

If in a certain code EDITION is written as 3891965, then how TIDE will be written in that

TfZEDITION @} 3891965, foad & @8 TIDE #1 o) qe vl # 1 fqw?

(a) 3819 (b) 1983 (c) 1839 d) 1586
If FADE is coded as 3854 then how can GAGE be coded?

Af2FADE B 3854, Tomas & 79 GAGE BT SE) e wINT H FT farwE?
fa) 1824 (b) 2834 () 2824 (@) 2814

Directions : Each of the following questions is based on the following alphabet series

ey

Q 48

TS WS A1 TE AR @Y el 4 sl 2|

ABCDEFGHIJKLMNOPQRSTUVWXYZ

Which letter is sixteenth to the right of the letter which is fourth to the left of I?
@l sy | @ S T AT seR P 3 | deisdl &)

(a) S by T (¢c) U (d) V.

10
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() 49. Which letter is exactly midway between G and Q in the given alphabet?
Rl g G 5 Q & A g 2

(a) K (b) L (c) M (d) N

Q 50. Which letter is midway between the eighteenth letter from the left end and tenth letter
from the right end of the given alphabet? '
aif ¥ oA T A TR N AEA AR B A I W Y 8T

{a)  No letter (b) K ey Q d R

PART - II : ELEMENTARY MATHEMATICS (¥ o)

1 2x ‘
Q51 X+ =5, then ————— is equal to

3x* —5x+3
1 ' 2x
f 2 =5 & f——fhEa guae 27
e X +x 5. & M=z _Sx+3f<’b‘m= avia &
(a) 5 (b) (c) 3 (d) 3

5

2.3, __( +y 3xy)is

Q 52. The simplified value of ( L "

x4yt x-y
1 1 1 1

(@) =5z b) =i 0 == W =
Q 53, Find the value of

gyiehl HH FwrE

l + 999494

5 495

{a) 90000 (b) 99000 (c)80900 (d) 99990

Q 54, If x =11, then the value of x° = 12x* + 12x° = 12x” + 12x— 1 is
ufd x=11, 8 @ —12x' + 12¢ = 12¢ + 12x = 1 FT T T |
@ 1 {b) 10 ) 12 (@ -10

Q 55. If p =101, then the value of

Yppt=3p+3)-1is

g p =101, 577

Vp(pt = 3p + 3) — 15GH1 9F A |

(a) 100 {b) 101 (c) (d) 1000

11



Q 56.

Q57

Q 58.

Q59

Q 60.

Q61.

Q62

Q63

If @¥ = 11 then the value of 2% - 331ais
Afda = 118 @1 a*=-331a T A= 4T B0

A

{a) 1331331 (by 1331000 {c) 1334331 (d) 1330030

If 11y = V112 + V343 then the value of nis
4f2 11vn = V112 + V34307 n T =TT 819017

{fa) 3 by 1 () 13 dy 7

If x+y=v3and x =y = VZ then the value of 8xy (x* + y?)is
wE X+ y =3 x —y = V2,8 @ 8xy (x* + y*)m wa amgd |
fag 6 by & (¢ 5 (d 5

If 2% =3% =67* then ( - ++ +.) is equal to
XY 2R
Tfgar =3v =678 ol (§+; o) [ avraR &7
a) 0 (&)1 (ch3 (d) -2
Ifx =3 +{2 then x“;‘;as equal to
TG x = 3 +Y28 Tla2emr = w1 g2
(a) 36 {o) 30 (c) 32 (d) 34
Find the value of

0355X 05555X 2025 .
0.225 X 1.775X0.2222 eq

0.355X 0.5555 X 2.025__

T = .74
0.225 X 1.775X0.2222

ia) 54 (by 4.58 () 45 (d) 545

(0.01024)'" is equals to
{0.01024)"5F avx &7

{a) 04 (b) 4.0 (c) 0.04 (d) 0.00004

The value of (243)°'® x (243)° ™ is equal to
(243)° % x (243)" “fraT T B

(a) 0.18 b) 3 (©) (d) 0.04

AR

12
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Q 64. If a and b are two positive integer such that a?- h* = 19 then value of a is
af2 a ok b oAEw e §9 g@R & a® - b% = 198 @ a &1 79 5 |
(a) 19 (o) 20 (c) g (d) 10

i

Q 65, /(798)% + 0.404 X 0,798 + (0.202)% + 1 is equal to

JT798)2 + 0404 X 0,798 + (0.202)2 + 1 AL &7
@ O b) 2 © 1 (d) 0404

Q66 The sum of three consecutive odd natural numbers is 147. Then the middle number is
af2 t=t s swena s e e 1 T 147 w1, @ da ol dem g

(@ 47 (b) 48 (c)49 (d) 51
Q67 A student was asked to find -126- of a number , By mistake he found-z of that number and his
answer was 250 more then the correct answer - Find the given number

mmﬁﬁﬁmm%m A b (30 @ T AT S e il Esvaaﬂ
ferar | Swa gwe 68 e D 250 FE o1 & T = g SHRAY

(a)300 (b)480 (c) 450 (d) 500

Q 68 The HCF and LCM of two numbers are 12 and 336 respectively. If one number is 84 |
then the other number is ) .

<] W @ RE 9 OE FAT 12 ow 336 8, 4l gw W a4 B S g @ g
A | :

(a) 48 (b) 36 (c) 72 (d) 96
Q 89. The value of

£05260°44 sec?30°~ tan®45°
5in?30%+ cos230°

T AT S BAY

(@) = . by = (€) = @ Z

V3 12 12 10
Q 70, The expression

tan 57%9+cot37°
tan33Y+ cot 53

AP

is equal to

tan 579+cora7?
e (P ARTAR &
tan3a’+ cot 539

{a) tan 30% cot 57° (b) tan57%c0t37°
(c)tan33%cot53" (d) tan33°® cor37°

13



sinf+casH ‘

Q71 lf —————= 3 then the vaiue of sin*fl is
sinf -cosd

sinf+cosf
afa———— = 3 & d@isin*@& 77 g &7
smG cosé

(@ = © 3 (© 3 (@ 3

25

Q72 Ifsin8—-cosB=— and (19<8<90)° then the value of sin e +cosB is

|.

ifasin 6 — cos B = —#v0"<9<90% sin @ + cosBm1 W4 §ﬂﬁ PIfTT
13

17
13

(@) (b) 3 (¢} (@

Q73 If a2sec?x - htan®x = c? then the value of sec’x +tan®x is equal to ( assume b* # a*)
afta®sec?x - b*tan®x = c?& @ secx +tan’x® wF aaigd  (E W gObY #
rd
as)
r?-a?42c? b*+a?-2c* bEi-g?-ac? b*-a*
(@) hi+n? (b} bhZ-a? (@ b*+a? (d hizadaze?

Q) 74 The distance between two parallel chords of length 8 cm each in a circle of diameter 10
cmiis
&t wEEe g AAL aed A @ dm B g T, e gl @l wrE 10 §ALE

a) 6cm (b) 7cm (¢  8m (d) 55cm

Q75 ABCD is a rhombus. A straight line through C cuts AD produced at P and AB produced
atQ. If DP- Z AB then the ratio of the length of BQ and AB is *

ABCDY# ¥ THT &1 TF ¥ fig CH gwwd B aw ADFI g Paum ABE fig Que
gfrdfa s 2 ufs DP-— AB @4 BQEZAB &1 U gl |

(@) 2:1 (b) 12 (c 1 (@ 341
Q 76 If the sides of a triangle are in the ratio 3 : 1 % 53 % then the triangle is

Hﬁ@ﬁﬁﬁgﬁﬁBﬂiﬁi,%mfwu # B o g & 27

(a) Righttriangle (b) Isosceles triangle

(c)  Obtuse triangle (d)  Acute triangle

Q 77. An equilateral triangle of side 6 cm is inscribed in a circle. Then radius of the circle is:
T wFATE Torm SrEst 59 6 9§ usygnl & HdTa B | g 91 Seww 6 |

(@ 2V3icm (b) 3VZcem {c) 4v3cm (d) +V3em

14
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Q 78. Three circles of diameter 10 cm each are bound together by rubber band, the length of
the rubber band is:

10 9. 216 T 3 7 IF g © W e § ol 9% UF @S §I a o 8| W
@ vl g Y |

(a) 30 {b) 30 + 10w (c) 10w (d) 60+ 20w

Q 79. Ariver 3 m deep and 40 m wide is flowing at the rate of 2 km per hour. How much water
will fall into sea in a minute?

TF 3 Hey ned aul o §) D6 9 2 freres o 92 A oae 4 g6 21 A9 59 9
% wfy fBee orit & amgas we @ |

(a) 4.00000m® (b) 40,00,000m*c) 40,000m® (d) 4,000m’

Q 80. If the radius of the base and the height of a right circular cylinder is increased by 10%
each then the volume of the cylinder increases by

ﬁr&hwamaﬁﬁmmmg gl @ 10 dfosm @1 B 9 A e @
= umuu i sa @ |

(a) 331% (b)  14.5% © 331% (d) 19.5%

Q 81. The amount of concrete required to build a concrete cylindrical pillar whose base has a
perimeter 8 8 metre and curved surface area 17.6 sqg. metre is (Take m = -2—2 )

Wﬁmwwﬁmﬁmzﬁqf%ﬁsatﬁw%aﬁ?"ﬁwmne ai
flex 8, @) 99 ¥ freeh AT T @EAE e =2)

(a) 8325m° (b)) 9725m’ (c) 105m’ dy 1232m°

Q 82. Some bricks are arranged in an area measuring 20 m*_ If 'the length, breadth and height
of each brick is 25 ¢m, 12.5 cm and 8 cm respectively. then the number of bricks are:
@ g2 g 20 miEr U dgNl §ART T | 3R Uw 3T 9 g 25 A, dieg 125 [

ﬁmmr?‘u?ft’rgaa-{ﬂ%ﬁugﬁéaahwsma&- .
{a) 6000 (b) 00O (c) 4000 (d) 10000

Q 83. The length, breadth and height of a room is 5m, 4m and 3m respectively. Find the
length of the largest Bamboao that can be kept

T PR P TS TR AN S e s W4 N AR a M B TR S T
U @) oifar] s WIRAT S 39 FA F Poiaar = O e ¢

{a 5m (b) 60m {cy 7m (d)5vZ m

@ 84. A solid metallic spherical ball of diameter 6 cm is melted and re-casted into a cone with
diameter of the base as 12 cm. The height of the cone is

sﬂgﬁ@ﬂﬂW’ﬁﬁf?‘ﬂﬂﬁTﬂﬁ%‘“ﬂ 2w ﬁ:s‘mw—awmamr
a1z adl § giell R 2 A oy B SEE R

al 6 cm (b)2 cm (c)4 cm (d) 3cm

15



‘ A

Q 85. If the ratio of the diameter of two right circular cones of equal height be 3:4, then the
ratio of their volume will be
AXET HeTE qAE 2 WAl bl bl WUTT 34 F TR MU B HAURT S P

(a) 34 (b) 916 (c)18:9 (d)27:64

Q 86.The mean marks of 20 students is 15. On checking it was found that two marks were
wrongly copied as 3 and 6. If wrong marksobtained are replaced by correct vaiues 8 and 4.
then the correct mean is
20 BIEl & bl #1 NEA 15 oy FAE F w2 oie 3 3N 6 TER ¥ WY TR HIR e
HH W BT F G AT 4 AN 8 W gach [By) WE A B aret & A e #6

(ay 15 (b) 15.15 {c) 15.35 (d) 16

€1 87 If the difference between compound interest and simple interest on a certain sum of
money for 2 years at 8 % per annum is Rs 768/ then the sum invested is:

et we oy @ 2 a1 % forg & it arfife gv @ R g wmget s aiffie B
F1 ST 768 TR F AT 9w aur @2
{a) Rs 1,00.000/-(b) Rs 1,10.000/-(c) Rs 1,20,000/-{d) Rs 1,70,000 /-

Q88. On what sum of money will the differénce between simple interest and compound

interest for 2 years at 5 % per annum be equal to Rs 83/~
fore oIS 92 5 vhwe aiff® ¥ @ 2 J97 T THTE! i UERY AN T A 63 T 2|

(a) Rs 24600/- (b) Rs 24800 /- (c) Rs 25200 /- (d) Rs 25500 /-

Q 89. A sells an article to B making a profit of % of his outlay. B selis it to C, géining 20%. If C
sells it for Rs. 600 and incurs a loss of % of his outlay, the cost price of Ais

A A ollig tj\(-ﬁFb‘l%‘bmmﬂrﬁggWdigsﬁﬁ?ﬁ'?ﬂlaﬁzogﬁmd GIRAC 2
C wl aa o uﬁ;cégﬁﬁoomﬁ#éaf&m t’cﬂ«nﬁmm@mﬁ&mﬁgﬁ‘m
T D HeU gel o |

(a) Rs.600 (b) Rs.500 (c) Rs, 720 (d) Rs.800

Q 90. Ramesh bought 10 cycles for Rs. 500 each. He spent Rs. 2,000 on the repair of all
cycles. He sold five of them for Rs. 750 each and the remaining for Rs. 550 each. Then the
total gain or loss % is t

500 T U WEEE 9 gv 9 N 4 10 UEihd 999 Sue ) wiglEE @1 e 3w
w2000 T @ Y 10 EEfee ¥ 9 5 wigldbdl @ S99 150 U0 v wgfde @) @ 9 a0
Yy wighial 1 S ss0 TG TR WEfEe A ax @ da QU | O Te v @ a el e w5

(@ Gainof8: % (b)  Lossof8: %
{¢)  Gain of 7; % (d) Lossof7:%
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Q 91 A can finish a piece of work in 18 days and B can do the same work in half of the time
taken by A. Then working together what part of the same work they can finish in a day
A ud @i @ 18 f3H1 3 @o1 I 2| B 99 &% &1 A g a0 T e w1 §9g A
T T TEA 5| UF Y w5 awd d g4 @ (@9 i fear 9 a1 w9
i
1 2 1
@ < () B € 3 (d)

~N N

Q 92. The rate of working of A and B are in the ratio 2:3. The number of days taken by them to

finish the work is in the ratio
A SR B @ @ EA @) 2R 23 B AW F # | T 50 @ 8 @ 6 B e m
=7 AT T A

{a} 23 (b) 49 c) 32 (dy 94
Q 93. The ratio of the number of boys and girls in the school is 3 : 2. If 20% of the boys and
25Y% of the girls are scholarship holders, the percentage of the school students who are not
scholarship holders are

fet et i gl AN srefhdl B WEm H 3 2 @1 e 9l 20 wfna S AR 25
uftve mefeat w BT et B A v & o (Qafial @ ufteg e R oafe w
e )

(a) 56 (o) 78 ¢y 70 (d) 80
Q 94. A Train passes two bridges of lengths 800 m and 400 m in 100 seconds and 60
seconds respectively. The length of the Train is

Vb YIS 2 OEt foa orTe AT 800 HieY FW 400 maémmwmwm
100 FEE M 60 Fos & FAY ol 2, Vel & FEE ;9 g |

fa) 80m () 9O0m {c)200m {d) 150m

Q 95. In an examination, 52% students failed in Hindi and 42% in English. If 17% failed in both
the subjects, what percentage of students passed in both the subjects?

o wdan A 52 wfowa e & 7 AR 42 TETT BT el # orawel @ Wit ) Afe 97
wieme o 2 fval 4 sewe el € o) a3 9fise o= 99 Qe ® w9 g0

@) 38% (o) 33% (€) 23% (d) 18%
Q 96. The batting average for 40 innings of a cricket player is 50 runs. His highest score
exceads his lowest score by 172 runs. If these two innings are excluded, the average of the
remaining 38 innings is 48 runs. The highest score of the player is

e e & aendl #7140 WG # dectarol! @1 dIk 50 F B SH@ AfeEeT TR T
-q—m w‘le Wtz = W 2 ) o 3 olE 7 oofia T Fw o o oty oRs e sitea @ e

7| Rgerd =1 sfead WPk aasy |

(a) 165 () 170 (€ 172 « (d) 174

Q 97 A discount of series of 15% , 20%and 30 % is equal to a single discount of
168% . 20% @ 30% ! geer siv), fby wk aed & | 87

(a) 50% (b) 47 8% (c)52.8% (d) 52.4 %
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Q 98. A dishonest dealer defrauds to the extent of x% in buying as weil as selling his goods by

using faulty weights. What will be the gain percent cn his outlay?

Qb AE AT TG ®ET OGN S qudl avqel B #a AR A s g0 x% 3
TEATT FEA &1 U ofldd G Y T BRee #91 B
10

(@ 2% ) @ixn% (@ @rIy% @) %

Q99 A and B started a business in the partnership by investing in the ratio of 7:9. After 3
months A withdrew § of its investment and after 4 months from the beginning B withdrew 33%

% of its investment . If the total earned profit is Rs 10201/- at the end of @ months, find the
share of each in the profit.

A4 BT HIFER B U @R W feul Ak @ 70 & agam # I gon Ady e B s
TEH e A eﬂ'?rwim-ﬁm ol & mrﬁ4mm8&mﬁ@m133§%ﬁ?ﬂaw
#) a2 o Mg & o i me 10201 TIR BT A g © o ewdl @ uee @ Rew @ e

{a} Rs3535- and Rs 6666/ (b) Rs3055- and Rs 5555/

{c) Rs 4503/- and Rs 1345/ (d) Rs 3545/- and Rs 3333/-

Q 100, What is the value of log,(log,81) ?
log,(logs81) @1 7 =W &rm?

fa) 2 (o) 3 () 4 (@ 9
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